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LEDD,
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3 BEHzITOVTO2OOHERP(2)=0. Q)= 0#LBEE 2HOLT5, Z0OLE0c Ok § KDL,

EEZEMO3EA3, 1. 3). B(4, 2, 2), C(4, 0. 1)0EDLFEE H L4 5. $7,
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(1 WHAB-AB. AC-AC. AB-AC #%kp L,
2 BHO00, 0. OASLFHH ICFALAERNEY Q L5, AQ % AB & AC T2,
3 HREK LOAPIHLT, 85 QP LOSTAR = rAC (7 HFBOER) 2 H7T A RIFET S 2 & R4,
@ FRKCBOTESO »LOEHIRNE S ASOEETRD L,

[4] #owicvconokE BErAoTs, FRTOENTEIREOBEL p(055 < 1) 2T 5. B LERBIEL
—OR Y L TRIRTRAET o RTE 2 BT & 5, REL ¢ BB D BFHEL £(2) L5,
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COAREEFE L BEREREND0TH LY, ERER ST
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(a®+ b2+ 2 (a2 + 92+ 28 =(ax + by + 2)?
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sin A sin B sin C
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a’=b2+¢c?—2bccosA
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BERFR (2 =r(cosfd +isind), (r=lz|, § =argz)
z1=r(cosf +isind,), zo=ry(cosBy+ isinb ) i1, 212, = ri72{cos(8, + 8,)+ isin(8, + 65)}
F-E77NVDORK 1z =r(cosd +isind) L, 27 =r"(cosnd + i sinnd)

(% & RO BR)
Pt g=00@N e, FOLE a+B=—p, aB=gq
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=Z A B B
sin(e + 8)=sina cos 8 + cose sin 8

cos(a + B)=cosa cos § — sine sin B

tane 4+ tan 8
1—tanea tan B

cos2a =1—2sin*a =2cos’a — 1

tan(e + B)=

sin @ cos 8 =% {sin(a + B)+ sin(a —/3)}

cose sinf = 1 {sin(af + B)— sin(e —/3)}

2
cos @ cos B =1
° 2

{cos(af + B)+ cos(a —B)}

sine sin 8 = —% {cos(a + B8)— cos(a ——,3)}

A+B A—B
2 ¢ 2

A+B A—B
2 2

sin A + sin B = 2 sin

sin4 — sin B = 2 cos

cosA + cos B = 2cos 4 ;B cos

2
A+BsinA—B
2 2

asin +bcosd =,/a’ + b2sin(0 +a), (sine = —=e o=l

T T Tarar

cosA —cos B = — 2sin

(% 1)
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o
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Wa, Gy, B oBraEIon s, =217 a)

1427437+ o bn? = —n(n +1) (20 + 1)

2
P4+20 43+ -+ 7= [ u(n + 1)}
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® ® 5

{#leen} =r (e )

s=fy ok %= (&)™

dy
x=x(t), y=y(HDLE f—;=_._ij§g

, (logx)’ = 1
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®
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